Rl

Head Office: ARB Corporation Ltd

M’U m Postal Address: PO Box 105, Kilsyth 3137 Australia
: Street Address: 42 - 44 Garden Street

4X4 SUSPENSION Kilsyth, Victoria 3137 Australia

A Division Of ARB Corporation Limited Tel: +61 3 9761 6622  Fax: +61 3 9761 6807
www.arb.com.au
ABN 31 006 708 756

JEEP WRANGLER TJ REAR PANHARD ROD
EXTENSION MOUNTING BRACKET

Part Number FKWTJO02 - Left Hand Drive Models Only

CONTENTS:

Quantity Description

1

Panhard Rod Extension Bracket

Panhard Rod Spacer

Bolt M12 x 1.25 x 25mm

Bolt M12 x 1.25 x 65mm

Bolt M10 x 1.25 x 25mm

Woasher Flat 12mm

Nut M12 x 1.25ZP

Nut M10 x 1.25ZP

Washer Spring 12mm

Washer Spring 10mm

(TN ST =N 1) I T e P FS

Woasher Flat 10mm

FITTING INSTRUCTIONS:

Moo dE

o

8.

9

10.
11.
12.
13.
14.

Disconnect the rear sway bar at the bottom end of the linkage.

Disconnect the rear driver’s side shock absorber.

Disconnect the rear panhard rod at the axle end and save the hardware.

Jack up the rear of the vehicle from the bumper or the frame to allow the rear driver’s side coil to
relax. Make sure the vehicle is secured with jack stands.

Remove the rear driver’s side wheel and coil spring.

Remove the plastic shroud from the top of the panhard rod mounting fixture. This fixture is
welded to the axle tube on the driver’s side.

Fit OME extension bracket to the top of the mounting fixture using OME panhard rod spacer in
original mounting hole. Secure with 65mm x 12mm bolt through hole “B” at the rear.

Using the extension bracket as a template, drill through the fixture at holes “A” and “C”. Hole
“A” should be drilled to 1/2 inch and hole “C” should be drilled to 7/16 inch.

Permanently secure the extension bracket to the fixture using provided hardware.

Reinstall the coil spring and shock absorber.

Reinstall the wheel.

Remove the jack stands and lower the vehicle to the ground.

Reinstall the panhard rod to the extension bracket using the original bolt.

Reconnect the sway bar linkage.

(Refer overleaf for diagram)

16/05/00

Page 1 of 2 3782563



PANHARD ROD

OME PANHARD ROD

g, / EXTENSION BRACKET
\ P
D)) 10 @
|

HOLE B < %‘\ HOLE C

STEEL SLEEVE & M12 X 65 BOLT ’ MI0 X 25 BOLT
\ HOLE A

: MI12 X 25 BOLT

ORIGINAL BOLT & NUT

&

g

16/05/00 Page 2 of 2 3782563



